Efficiency vs Dxy(PV)

O3 5=20-15-10 =5 0 5 10 15 20 25

TP dxy(PV
__ xy(PV) (cm)

—_ DQMs(ep3 TT defa It

—— DQMstep3_TT_ckfPixelLess

— —— DQMstep3_TT_default-relf2

[ Efficienc] —— DOMstep3_TT defaultNEWTOLDSAMPLE-relf2

< 0.5

g
Soa

o

o

efficiency vs dx
o
w

o
© N

I |‘|| el
\|||\|||i|4 | : 1

—1—0&06—04 02 0 02 04 06 08 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
0.5

PV)

o

efficiency vs dz
o

©

26"
TP dz(PV) (cm)

Efficiency vs Dz(PV)
< 0.5

efficiency vs dz(PV
o o
N O ow 9

Ratio
o -
N
3
T o
r—

T dz(PV) (cm)



	Contents
	Page 1


